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Worksheet -5 Subject: - Mathematics Class: - VII Teacher: - Ms. Neeru
Name: Class & Sec: Roll No. Date: 17.04.2020

Topic: Integer
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%- 5: Mohan deposits 2,000 in his bank account and withdraws = ,64:2.
from it, the next day. If withdraveal of amount from the accountss
o represented by anegative integer, then how will you represent l!te ol

deposited? Find the balance in Mohan's account after the withdrawal.

6. Rita goes 20 km towards east from a point A to the point B, From B.
she moves 30 km towards west along the same road. 10 the distance
towards east is represented by a positive integer then, how will you
represent the disiance travelled towards west? By which integer will
you represent her final position from A?
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8. Verify a—(—&)=a+ b for the following values of a and b.
B, @=21,b=18 ()79 a=118,b=125
W4 a=75b=82 . V) a=28b=1i
'8, Uscthesign of >x< or= in the ok to make the statements tru
&) (~8)+(-4) T -9
V 1 15-8+4(9)
(c) 2543 + 11 7 .23-41-11
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M 39215y . [ ] 36+ (-52)-(-36)
(€)~, —231+79 + 51 ] —399+159+81
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(i) The rational number that does nothave areciprocal, ©

@ The rational numbers that are equal to their rec1pr'6‘c%1 . ' - |
@) Therational number that1sequal toits negathve.- - o
41, Fillin the blanks.

() Zerohas_ N reciprocal.
(i) Thenumbers__ '}  and —' —| _are their own reciprocals

(i) Thereciprocal of—5is_~] .
1244 1 ——
(iv) Reciprocal of — wherex#0is___ 2L .
(v) The product of two rational numbers is always a Rl " N

(i) Thereciprocal of a positive ranonal number is AR
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